Math 61 Fall 2007 | Name: JO(2/ ) OMS

. TEST #3 @ 130 points

Write in a neat and organized fashion. Use a straightedge and compass for your drawings.
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Given arcs: mAB =120" and mCD =80°

Find the following (use correct units):

a) m/AOB = W 45 = 120° (ceedred L

b) m/CFD = j_(wu 62+m7;73): {(Zao) - Joo®

Name another angle that is congruent with ZCFD : L AFB ‘ ’

c) mZCBD 12_/ m CrZ = 900 / Whnu.(%zp( {)

Name another angle that is congruent with ZCBD: < A

/ P ©
d) mZAEB = 4 m 4B = 6o

Name two other angles that are congruent with ’ZAEB . L 4 6 and < A 95
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2) Given: AB and AC are tangents to OO (that is, segments AB and AC are congruent),
mZACB =70, AB =5cm .
Find:
a) mBC

” Ac Al
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b) mBDC _ ~
= 20 -m AC
=360 - /¥o°
= 2 '2_00

¢) m£LABC C
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e) AC ,
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3) Prove the following theorem using a formal proof. Make a drawing and state the hypothesis (given) and
conclusion(to prove) using math notation pertinent to your drawing — that is, do not state the hypothesis and
conclusion in words! '
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4)
a) Find the circumference of the given circle . 60°
Give exact answer using correct units.

Omg[(fma = ’&/f: &['/0 #; 7/0/~/é{¢ A

b) Find the area of the given circle .
Give exact answer using correct units.

747{4 = 7[2: i(/a#/l:_ /WU/P)L{L
¢) Find the length of the arc AB. Give exact answer using correct units.
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d) Find the area of the sector AOB. Give exact answer using correct units.
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S)HS/ixmplify thf following trigonometric expressions:
| WX . oz i o . « 2
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6) Sketch a right triangle that has one acute angle &, and find the other five trigonometric ratios of € knowing that
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7) From the top of a 180-ft lighthouse, the angle of depression to a ship in the ocean is36°. How far is the ship from the
base of the lighthouse?
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8) Prove the following identities:
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EXTRA CREDIT
Choose ONE or TWO of the following problems:

(1) @ 10 points

A water tower 30 m tall is at the top of a hill. From a distance of 120 m down the hill it is observed that the
angle formed between the top and the base of the tower is 8. Find the angle of inclination of the hill.

(2) @ S points 4 M B

A circle is inscribed in the triangle ABC as shown.
AB=14,BC =16,4AC =12.

Find AM,PC,BN . P



